



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right) - \left(-\frac{2}{5}\right) =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{2}\right) = \frac{9}{10}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{653}{1080}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{21}{40}\right)$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \frac{5}{6}$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) = 0$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{5}{8}\right)$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) = \frac{653}{1080}$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{149}{375}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{5} = \frac{14}{45}$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{4} = \frac{55}{216}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} = \frac{61}{80}$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{2} = \left(-\frac{5}{64}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{1}{2}\right) + \frac{1}{2} = 0$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{75}\right)$$

$$\left(\frac{1}{2}\right) - \left(-\frac{3}{4}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{3}{5}\right) - \left(-\frac{2}{5}\right) = 1$$